THSHEE XRFE

FEEYIIT—RER

B E B X = % = 15 [27]=! OBl - Mt {5 FA Bk
2 B |[FERRWHEXREE-# B FHr 3/19 |—#8 % %,35,455 % (M) FDth(K) M/K
8 + |EEA—T> B FEr 2/21 |%¥50,55,60,65,70,75
B FEr 2/27 |—RBF15
Bl 2/271 |—@%F Fi#A:158(H)
9 B |MEA—F> HERSHER | 2/27 |BF35-45 AHXEAE
ERSHASRK| 2/27 |KF35-45 —RBF28 BRAVVEVHILE
FHRAET | 2/27 |5F50,55,60,65,70,75
16 B |[TEREATRLE-HBECUIILR) 29l 4/3 | 108 —@B% K
22-23 | £-B |FEREDERFEE =Eai]
30 B |FERNMNEERFERS B FHEr 4/10 |2ERMH LAFNMNEERS TR K
34 | B-k [BRZFESUTIVREFIE b 3]
6-7-9 [£-B-%|BRBERTFERFER =Eai]
13-14 | -8 |30 2BAL VY IILAEFIERR LR R
13~16 |t~k |BARFEEF)—JH BFET 13-14 J—5'8 1516 ZEF 4
9 X |REALT—RARBRESTFERTFE 29EL 168 HAK LT —RER
14 B |2BXLTI—ARBASTERTR pii=% Y]
21 B |FEREFEXRS B FHEr SRR M/K
24 K |2BFALTI—RARBREFELTE 29EL 16 BA%k LT —RER
27-28 | £-B |[BAEEFHEAS =Rl FEFERYIMN-_ER
2:3-4 |2+ B|BRSKEFIERR BFET
3 T [FEREZXHRXL Ll 5/22 |BF KFER7 %) M
3 + |FERLT—RAAEHEEL 2L 8T
78 | KK |[TEESEEREZTTEEFTHREAR mRTERE VINTFZR(E{KE)
9-10 | & -+ [FEREBLBEWEN) B FEr
10 T [FERV=7KX& Lizkic) 5/15 |RRKXE
11-12 | B-A | TREESRELEE®) =Eai]
10-11 | £-B |2 BASVIRATILABFHERS RBAR-EEH
15~18 | K~ B |E52[E NARI—ILS v hvT JbiEE - #LIR
17-18 | £-B | FREPFEAS pi=% 16M
18 B |FEREZHFEBRGR7HE) B FEr
22 A | FERLT—RBELHEFS 29E0L 6E
24-25 | -8 |AAARVZ7EFIERR FEH- AT
25 B |FTEHER 79E)L 20
1 + [sTY—/m BFHr BAREXME)—Y
1-2 | -8B [BAR/MEEXRS =Eai] 28:AA3R:FHk
8:9 | -8 |E77E BAXARFIERSE & LT - AT
8~12 [ ~K|RAXRPEEFEAR BFET
9 B |L—tUMEFREXS B FHEr 6/19 |£%&H M
15-16 | -8 |$#78E REAXEFIEAR RRET KA K
17 ® | BAKEE FWH
23 B |FEREAHEH B FEr K
23~25|K~H|2BASRKEFERSEF) JeiEE & MR AB—INA
27-28 | K2 |FERIFREBEABEAR BFAr
27~29 K~ B |2 AARBEREFIEAR(ZF) L3l & Mk T AB—inA
28-29 | &-+ |$49E £ARL T—AKE (EAE) FNIR BT
28~30 | £~ B |2BAEEMEFIERR EBREET
3~6 |AK~R|%H40E £ARNZEEFIERS EERWAT
1~9 | A~K|BERDERAR HARIALRT
12-13 | -8B |FE#BHEFIE ARETH 128()—#i&F 138(A)—MIRBEF
1617 | /K-K |BARKBEVINT—RAKE R
18~20 | &~B|BRIAvIAE BER-EATH BEAR—L
21~23 | A~k |$E54E £EPEHAS ZIERSA
22~24 | K~K|F44E £ERL T —RARBAREKRE) |BHME-—FH
24~27 | A~B|$3MER B P21 T7RRHREAR FFRILTH
25~27 | £~ B |REEFRITOJ 5L Step3 (BARMK) BER-REAT REAF—L
26-27 | £-B |E5HEYINT=AKRE B8y E
27 B |ENiEERmRFIE BET B &35L0 L DER
1 & |BERELTI —RATERFE JH9EL 16M HAK LT —REH
1~7 |&~K|2AXRFEEFIERR TET- e EET
2:3 | £-B |$51E 2BAHSANEFERS EEREET
9 T |FERI=FKE A 8/7 |MEXE MTEHDOE - EBRG
10 B | FERREFAGFBI3RT7 ] pl=% 108 —ROMHSTHE =7 O#:-TMBLLE K
15~17 | &~ B |AARR—YTRF—X2023 1@ RMaTH
17 B | KREEF AEET
17 B |FHBH BBRFH 217 FiEH10/8(8)
23 @ |mITHER Ll
23-24 | -8 |$270 £BARI_T7EFERE FRRE BRI T
23~10/8| T~ B |[F1IAT7CT7HEEXE thE H
30~10/1| +-H |#30E Sa=F7AUrEVIAVTRE INCT- QN LSRRI TRFHERE
26-27 | KK |BERLTA—REFERS BER-EEAT KOEHAE FHA1083BCK)-4B(K)




THSHEE XRFE

FEEYIIT—RER

A =] E B X = % = 15 [27]=! OBl - Mt {5 FA Bk
1 B |2ENEEFERPE B FHr
5 A |FERLT—RABEFHEXS J9EL 16T HAK LT —RES
7 T |FERI=FKE AT 9/11 |Muigk F{kEK
7-8 | £-B |2EHERHBAXS H-FHr
9 ® |[FERLT —REFEAR 29EL 3E 1T
12~16 | K~ B |$F78E EBRAF AR ERBRERST 455 E A
10 | 5% ch BRPEMS)—JH B F8r
11-12 [K-K |$E3E 2AFL T—RRBRE (=7 O#) 2L 16[
21~22|£~H|STY—4'I FHBRT - AL BAEEMH)—Y
21~22|+~H|$30E LEAHISTEFEXS BFHr
21~22| -8 |TERPEHFAR =% 200
28-29 | +-8 [FERRXE 29EL 20 M K
28~31 |t~k |%35E AYAEYH2023 BRERMH
2 A |[FERLT—RAEFEAREKR J9EL 16M HHAK LT —REH
3~5 |&~B|FERERFAXS B FEr
9 A |FERI=7KE pii=% 10/10 | 168 FEARE
9-10 | K2 |TEESEFRESZTTEMNENERS mRMERE VIMTFZA(EKE)
11 + |aFhvT B BT
12 B | FERIBARE MEF 107 El ki M
14 X (|FERLT—RERIIKE =% 16/ BA%k LT —RES
1| 16 X |FERLT—RERAIXE 29EL 160 BA%k LT —RES
17~19 (£~ B |5$78E XEBF 2EBNFLERNEFERS RRER
18 T |fEUk—F AR fEILTH
19 B |mRHWER MR
25-26 | £-B |[BERXERE-ERERERKE BER AT BEAR—L
26 B |hIlH a=7HERS Lellil
26 B |EERRERR WA
30~12/2| K~ |ST—4 ZHEE2EH BxY—5
3 B |/MREESUTLTFREREFE pi=% 11/20 | 16F 6F4£BLSELEUTREDE K
3 B |FERI=F7KE =SR] 11/6 |MEX=
122 T |AhHULE L i)
10 B |}JHEHRFERXS 27el 11/27 | 16 —#& 5 &, MIX—#,35,45,50,55,60,65,70 K
17 B |FERERSIVFT fET
23-24 | £-B [STU—F A& L8R -ElUm
20244
A B |B B X = & = 15 at1=] B Al -t AR
13 T |BRERERAR(BT) RIER RAKEEE
28 B |BEERERAS (XF) eI 278 &K NEERETY—F
1 21 B [FERIUITILZEFIE pii=% 1/15 | 10Em —85 % M
28 B [u-13k& B FHEr hiE
28 B |69 £HAAVRTEFHEAS KBR A - KBR
2| 23 & |EBRHERECUTILR) B0 H
2 + |FERLT—RAREHETL 29EL L)
2 T |FERI=F7XE IRFE i 2/5 |BEXRRBAVAEYIFE FHAT SEREH
3 B |FERMZEESAER B FEr 2/19 |3R7HEE M
3 B |BEAEVUTIVEFIERS RERE ZFFER (FHR)
3 9 + [BERERVUTILREFERER R 5B FFE R (BaiR)
9-10 | £-H [$4E FMHvITUOLLEEREAR LBR - LEH
17 B |#hEHF tam
26~28 | K ~AK| 5350 ERFENEAARFEERR =ZB2R-F&H
28~30 | K~1|5549E £ BAEKEIRAR BHR-HHETN
29~31|&~RB|F23E £E/NFERR =k




